1TR(ARR) #B1 PP@50 BEM-FHFE

4 B e R RO H A B
[&44]
1Fd
R)F LA ¢ 50 29.0 29.0 | m
1fE Kk
o 13 2.0 1 2.0 m
fak
PVY/4rvk o 13 1 1 e
PP oo $ 50X ¢ 30 1 1 il
EFE H (PPa=AYYhrybe AN yR Erite)
AN 675X $50 | 1 1 1
PP H (PP Yook AN R £ Ee)
PR ILAS KA G 50X ¢ 13 1 1 {IE
TIL AR G Ak
V7 o— )5 ¢ 50 1 1 e
IR I 2T L Aa T )
MFY 3V b ¢ 50 2 2 1
s
e JWWA B 132 1 1 e
YT
PR25 (K) 2 2 &
EREE
RA25 (A) 1 1 i
TR
RC25 (C) 1 1 L5
JEERR
RS25(S) 1 1 &
TR AEL 650 613
BT RT— 150mm 29.0 2.0 31.0 m
sy B
~——p 2 1 3 &
[77%]
R F L EIRA T ¢ 50 29.0 29.0 m
$13 2.0 2.0 m
LR ok F—X Ly
PPikTT. ¢ 50 1 1 2 8]
TR ok F—X
$30 1 1 m
LR ok F—X Ly
613 2 1 3 m]
PP
PRy kR AR T ¢ 75X ¢ 50 1 1 &
PPE H fak
¢ 50X ¢ 13 1 1 [EER
ERfATE T
HY)FpEkE T ¢ 50 H=900 1 1 & AT
AH=INVARTF MF¥aAh
RY=FLAEHETF T ¢ 50 2 2 n
7.5k MFYaAh
T UHFET ¢ 65mmLL T 2 2 ]
B —RL 31.0 m
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LT CARR) i)+ TR

T+ T ¥ & &
+TAa47° 1-5 TEHE As PP ¢ 50 DP=0.90m
+ TR = 29.0 = 29.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i pRfiET
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ e HARIEE BREM — pP_ | +#9 [ 0.900
g RC-40 < H1 [ #m#izE]  1.060
i H2 | A& ]  1.030
1B hl [$E5H| 0.410
iz—F h | # & 0.460
! ou
| o
~N B| —
l | =
—
o
i =2
!
¢D
( 29.0 m Y7WEE)
4 R G2 N i B =V B =
SHAERR G As, t=15mBL T 2.00 X 29.0 m 58.0
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 29.0 m? 17.4
B mE T et W+ 0.60 X 1.030 X 29.0 m® 17.9
IR T RC-40 0.60 X 0.410 X 29.0 m® 7.1
A s B T oooan D ( 0.60 X 0.460 — 0.060 2 X x,/4 )X 29.0 m® 7.9
R
FEA TR W+ 17.90 m® 17.9
T AT 7 )L N ALER 0.60 X 0.03 X 29.0 m® 0.52
S S N As m’ 0.52
T VEEE - /L4y T 0.023 X 0.03 X 58.0 m® 0.04
BT RC-40, t=16cm 0.60 X 29.0 m® 17.4
A RIEAs(13)
)= t=3cm 0.60 X 29.0 m® 17.4




LT CARR) i)+ TR

T+ T ¥ & &
+TAa47° 1-11 THEHE As PP 13 DP=0.65m
+ TR = 2.0 = 2.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#mEigE] 0.772
i H2 | A& ] 0.742
1B hl [$E5#| 0.160
iz—F v h | # & 0422
! ou
| o
~N B| —
l | =
—
o
i Sy 4
!
¢D
( 2.0 m H7hHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 2.0 m 4.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.0 m2 1.2
BRI T Mg WE 1 0.60 X 0.742 X 2.0 m 0.9
IR T RC-40 0.60 X 0.160 X 2.0 m® 0.2
AR T oar i (060 X 0422 — 0.022 2 X 7,/4)X 2.0 m? 0.5
i)
38 EmR wWE+ 0.90 m® 0.9
T AT 7 )L N ALER 0.60 X 0.03 X 2.0 m® 0.04
S S N As m’ 0.04
T VEEE - /L4y T 0.023 X 0.03 X 4.0 m®|  0.003
BAE T RC-40, t=16cm 0.60 X 2.0 m® 1.2
A RIEAs(13)
*g t=3cm 0.60 X 2.0 m® 1.2




1TRRUR

%) fHBN PP@50 BE#H-HIF

X N\ s m | s
4 B e W I R O S K BB i
[&44]
15
RYFL A $ 50 29.5 29.5 m
17E Kk
613 3.0 X 1 3.0 m
Kk
PV ok ¢ 13 1 1 i
PPV rvb $ 50X ¢ 30 1 1 &
PPF—2 650 1 L
PPE (PP=AY Yok AN vk ErEe)
HRIL KA $50X ¢ 13 1 1 F[E5
(PP E L)

Vi ¢ 50 1 1 {IE
RN ¢ 50 27.5 27.5 m
[7%]

AT LR T ¢ 50 29.5 29.5 m
613 3.0 3.0 m
LR Aok F—x kA Bht
PPikF T $ 50 1+ 3 + 2 6 m
LR JAroh F—x S kAe Bht
$30 1 1 m
LR ok F—= Sk kRt
¢ 13 3 + 1 4 m
PP& H ik
PRk R AR T ¢ 50X13 1 1 & AT
RIZF LU ERET ¢ 50 29.5 29.5 m
$13 3.0 3.0 m
RYTF LA G T ¢ 50 29.5/6 - 1 4 =]
¢ 50 613
BT 29.5 X 0.595 + 3.0 X 0.184 BES 5% i+ 18.1 kg
ik F—x =k
AT ¢ 50 1 X 2910 + 3 X 4770 + 1 X 1.730 19.0 kg
ok
613 3 X 0.350 1.1 kg
kAT Gt 20.1 kg

GRAIT T 437k $50%13

1 X 1.70 PeAsTyT #+ 1.7 kg
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LT (fRER) i+ TR

T+ T ¥ & &
+TAA7° | ER2-5 THEHE As PP ¢ 50 DP=0.30m
+ TR = 2.0 = 2.0 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 S
! A4
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #iE] 0.360
i Hl | #EAl&]  0.320
| h2 | M| 0.170
! h W @&
|
i
=
( 2.0 m H7hHE)
4 R G2 N B =Y B =
SHAERR G As, t=15emPA F 2.00 X 2.0 m 4.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 2.0 m> 1.2
BRI T Mg WE 1 0.60 X 0.320 X 2.0 m 0.4
A AR B T RC-40 ( 0.60 X 0.170 — 0.060 2 X g5,/ 4)X 2.0 m? 0.2
TR
FEA TR R W+ 0.40 m® 0.40
T AT 7 )L NLALER 0.60 X 0.04 X 2.0 m® 0.05
MR AR e As m’ 0.05
TG VEEE - /L4y T 0.023 X 0.04 X 4.0 m®|  0.004
BAE T RC-40, t=16cm 0.60 X 2.0 m® 1.2
A RIFEAs(13)
*g t=3cm 0.60 X 2.0 m® 1.2




LT (fRER) i+ TR

T+ T ¥ & &
+TA47° | AEIH2-5 TIEEE As PP ¢ 50 DP=0.30m
+ TR L= 2.0 = 2.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
i Eﬁﬁl A
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #iE] 0.360
i H2 | A& ] 0.330
| h2 | M| 0.170
i h | &
|
! _
=
( 2.0 m Y/-0EE)
4 PR G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 2.0 m> 1.2
BRI T Mg WE 1 ( 0,60 X 0.330 — 0.060 2 X x,/4)X 2.0 m? 0.4
IR T RC-40 0.60 X 0.170 X 2.0 m® 0.2
TR
FA TR WE+ 0.40 m® 0.4
T AT 7 )L ML 0.60 X 0.03 X 2.0 m® 0.04
MR AR e As m’ 0.04
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 2.0 m> 1.2
A RIFEAs(13)
*/g t=3cm 0.60 X 2.0 m? 1.2




LT (fRER) i+ TR

T+ T ¥ & &
+TAA7° | ER2-9 THEHE As PP 13 DP=0.30m
+ TR = 2.8 = 2.8 m
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
!
i 3
| [=]
i ©
i
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
| = e HWEEE BEH « DP | +#Y | 0.300
I RC-40 < H | #igE] 0.322
i Hl | #EAI&] 0.282
| h2 | MR 0.132
i h | &
|
! _
=
( 2.8 m HhHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 28 m 5.6
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 2.8 m> 1.7
BRI T Mg WE 1 0.60 X 0.282 X 28 m 0.5
IR T RC-40 0.60 X 0.132 — 0.022 2 X 7,/4)X 2.8 m? 0.2
TR
FEA TR R W+ 0.50 m® 0.50
T AT 7 )L ML 0.60 X 0.04 X 2.8 m® 0.07
MR AR e As m’ 0.07
TG VEEE - /L4y T 0.023 X 0.04 X 5.6 m®|  0.005
AR T RC-40, t=16cm 0.60 X 2.8 m> 1.7
A RIFEAs(13)
*/g t=3cm 0.60 X 2.8 m? 1.7




LT (fRER) i+ TR

T+ T ¥ & &
+TA47° | AE1IH2-9 TIEEE As PP ¢ 13 DP=0.30m
+ TR = 2.8 = 2.8 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
!
| pmET 1
| RC-40 E
i
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= £ ° WHIES ERM o~ DP_| 8 | 0.300
I RC-40 < H | #igE] 0.322
i H2 | #AIE] 0.292
! h2 |5 0.132
! h W @&
|
i
=
( 2.8 m HhHE)
4 PR G2 N B =Y B =

EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 2.8 m> 1.7

BRI T Mg WE 1 ( 060 X 0.292 — 0.022 2 X g5,/4)X 28 m? 0.5

IR T RC-40 0.60 X 0.132 X 2.8 m® 0.2

B R T VONANE L

i)

38 EmR wWE+ 0.50 m® 0.5
T AT 7 N E 0.60 X 0.03 X 2.8 m® 0.05
S S N As m’ 0.05
TGIRIEM - T

BAE T RC-40, t=16cm 0.60 X 2.8 m® 1.7
A RIEAs(13)
*E t=3cm 060 X 2.8 m® 1.7
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STX(AER) f#B) EF)T75-PP)25-PPp20 E#t-H7

4 B e W I R O S K B
[&44]
[ B (BFE B LUV L)
EFS O EE 675 6 + 2 8 i
EFfr sz~ ¢ 75X 11° 1 1 e
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15
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17&E FL—r
$20 207 + 1.5 22.2 m
17E Kk ok
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ek
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fak
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ik
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ek
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Y
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TR
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ok 625 fak S Ko7
~—H—HL 1 + 2+ 5 + 1+ 1 10 1
[55%]
ke
AVE=F LU ERRA T ¢ 75 374 - 0.7 36.7 m
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$25 59.3 59.3 m
$20 22.2 22.2 m
ek
o 13 3.4 3.4 m
W Hi4) Sz Xy
Pl A T 1 ¢ 75 6 + 2 + 1 + 1 10 e
LR Aok F—R Gy KR
PPifkF 1. ¢ 50 8 + 2 + 0 + 2 12 AT
LR Aok F—R Gy 7KK Bht
$25 2 + 1+ 6 + 1 + 2 12 m
TR ok F—
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TR ok F—X
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STR(FRER) #HBA

EF¢75-PP ¢ 25-PP ¢ 20 &#f-57%

4

biikicy

W X K O E

BB W
PP
PRG3R EEA S T ¢ 75X ¢ 50 2 2 =50
PP
$ 75X ¢ 25 1 1.0 | &Epr
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i e
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3R (AR MiBh + TR

T+ T ¥ & &
+TAa47° 1-4 TEHE As HPE ¢ 75 DP=0.90m
+ TR = 37.4 = 374 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i pRfiET
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%] 0.090
= g2 ° WHIES ERM - pp_| 4| 0.900
I RC-40 < H1 [#m#izE]  1.090
i H2 | #AIE]  1.060
1B hl [$E5H| 0.410
iz—k h | # & 0.490
! ou
i S
~N B| —
l | =
—
! 8
! v
¢D
( 374 m Y70EE)
4 R G2 N i B =V B =
SHAERR G As, t=15mBL T 2.00 X 37.4 m 74.8
SRR BUELRGA T As, t=10emPLF 0.60 X 37.4 m?® 22.4
B mE T et W+ 0.60 X 1.060 X 37.4 m® 23.8
IR T RC-40 0.60 X 0.410 X 37.4 m® 9.2
A s B T oooan D ( 0.60 X 0.490 — 0.090 2 X x4 )X 37.4 m® 10.8
i)
FEA TR W+ 23.80 m® 23.8
T AT 7 )L N ALER 0.60 X 0.03 X 374 m® 0.67
S S N As m’ 0.67
T VEEE - /L4y T 0.023 X 0.03 X 74.8 m® 0.05
BT RC-40, t=16cm 0.60 X 37.4 m? 22.4
A RIEAs(13)
# )= t=3cm 0.60 X 37.4 m? 22.4
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3R (AR MiBh + TR

T+ T ¥ & &
+TAa47° 1-9 THEHE As PP ¢ 25 DP=0.65m
+ TR = 59.3 = 59.3 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i pRfiET
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= g2 ° WHIES ERM - pp_| 4| 0.650
| RC-40 < H1 | #mige[ 0.784
i H2 | #HIE] 0.754
1B hl [$E5#| 0.160
iz—k h | # & 0434
! ou
| o
~N B| —
l | =
—
! 8
! v
¢D
( 59.3 m Y7-hEE)
4 PR G2 N 7 " =Y B =
SREERR ) W As, t=15cmLL T 2.00 X 59.3 m 118.6
SRR BUELRGA T As, t=10emPLF 0.60 X 59.3 m?® 35.6
B mE T etk W+ 0.60 X 0.754 X 59.3 m® 26.8
IR T RC-40 0.60 X 0.160 X 59.3 m® 5.7
A s B T oooan D ( 0.60 X 0.434 — 0.034 2 X g5,/4)X 59.3 m® 15.4
i)
FEA TR W+ 26.80 m® 26.8
T AT 7 )L N ALER 0.60 X 0.03 X 59.3 m® 1.07
S S N As m’ 1.07
T VEEE - /L4y T 0.023 X 0.03 X 118.6 m®| 0.082
BT RC-40, t=16cm 0.60 X 59.3 m? 35.6
A RIEAs(13)
# )= t=3cm 0.60 X 59.3 m? 35.6
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3R (AR MiBh + TR

T+ T ¥ & &
+TAa47° 1-3 THEHE As PP ¢ 20 DP=1.20m
+ TR L= 20.7 = 20.7 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i pRfiET
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= g2 ° WHIES ERM - pp_| 4| 1.200
I RC-40 < H1 [#miigE] 1.327
i H2 | #AlE ] 1.297
1B hl [$E5EH| 0.710
iz—k h | # & 0427
! ou
| o
~N B| —
l | =
—
! 8
! v
¢D
( 20.7 m 47-0EE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 20.7 m 41.4
SRR BUELRGA T As, t=10emPLF 0.60 X 20.7 m?® 12.4
B mE T etk W+ 0.60 X 1.297 X 20.7 m® 16.1
IR T RC-40 0.60 X 0.710 X 20.7 m® 8.8
A s B T oooan D ( 0.60 X 0.427 — 0.027 2 X gx,/4 )X 20.7 m® 5.3
i)
FEA TR W+ 16.10 m® 16.1
T AT 7 )L N ALER 0.60 X 0.03 X 20.7 m® 0.37
S S N As m’ 0.37
T VEEE - /L4y T 0.023 X 0.03 X 41.4 m®|  0.029
BT RC-40, t=16cm 0.60 X 20.7 m? 12.4
A RIEAs(13)
# )= t=3cm 0.60 X 20.7 m? 12.4
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3R (AR MiBh + TR

T+ T ¥ & &
+TAa47° 1-5 THEHE As PP ¢ 50 DP=0.90m
S4EK R —2A
+ TR L= 1.0 +2.3 = 3.3 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= g2 ° WHIES ERM - pp_| 4| 0.900
| RC-40 < H1 [ #m#izE]  1.060
i H2 | A& ]  1.030
1B hl [$E5H| 0.410
iz—k v h | # & 0.460
! ou
i S
~N B —4
l | =
—
! 8
! v v
¢D
( 3.3 m HhHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 3.3 m 6.6
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 3.3 m> 2.0
BRI T Mg WE 1 0.60 X 1.030 X 3.3 m 2.0
IR T RC-40 0.60 X 0.410 X 3.3 m® 0.8
A A P T oooan D ( 060 X 0.460 — 0.060 2 X x,/4)X 3.3 m® 0.9
i)
38 EmR wWE+ 2.00 m® 2.0
T AT 7 )L N ALER 0.60 X 0.03 X 3.3 m® 0.06
S S N As m’ 0.06
15 UEE N - L5y T 0.023 X 0.03 X 6.6 m®|  0.005
BT RC-40, t=16cm 0.60 X 3.3 m? 2.0
A RIEAs(13)
*Jg t=3cm 0.60 X 3.3 m? 2.0
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SLX (R Ml L TLEEHE
T T %
+TAa47° 1-11 THEHE As PP 13 DP=0.65m
S5X3  +S6
+ TR = 24 +1.0 = 3.4 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
: Eﬁﬁ OA
| RC-40 =
i
i A
| W_[maliE]_0.600
o I D1 | &4ME| 0.022
= g2 ° WHIES ERM - pp_| 4| 0.650
I RC-40 < H1 [#mEigE] 0.772
i H2 | #HI&]|  0.742
:%HE-T- hl [$E5#| 0.160
iz—F v h | & 0.422
f ok
i S
~N B —A
l | =
! v v
¢D
( 3.4 m HhHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 3.4 m 6.8
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 3.4 m> 2.0
BRI T Mg WE 1 0.60 X 0.742 X 3.4 m 1.5
AR T RC-40 0.60 X 0.160 X 3.4 m® 0.3
AR T oar i (060 X 0422 — 0.022 2 X x,/4)X 34 m? 0.9
fin) 1A
38 EmR wWE+ 1.50 m® 1.5
T AT 7 )L N ALER 0.60 X 0.03 X 3.4 m® 0.06
S S N As m’ 0.06
15 e E - ALy 0.023 X 0.03 X 6.8 m®|  0.005
BT RC-40, t=16cm 0.60 X 3.4 m® 2.0
A RIEAs(13)
*E t=3cm 0.60 X 3.4 m® 2.0
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3R (AR MiBh + TR

T+ T ¥ & &
+TAa47° 1-10 THEHE As PP ¢ 20 DP=0.90m
RL—2B
+ TR = 1.5 = 1.5 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= g2 ° WHIES ERM - pp_| 4| 0.900
| RC-40 < H1 [#miigE] 1.027
i H2 | A& ]  0.997
1B hl [$E5H| 0.410
iz—k v h | # & 0427
[ ok
i S
~N B —4
l | =
—
o
i Sy 4
!
¢D
( 1.5 m Y7=0¥kE)
4 R G2 N 7 B =Y B =
SHAERR G As, t=15emPA F 200 X 1.5 m 3.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 1.5 m> 0.9
BRI T Mg WE 1 0.60 X 0.997 X 1.5 m 0.9
IR T RC-40 0.60 X 0.410 X 1.5 m® 0.4
AR T oar i ( 060 X 0427 — 0.027 2 X 5,/4)X 1.5 m? 0.4
i)
38 EmR wWE+ 0.90 m® 0.9
T AT 7 )L N ALER 0.60 X 0.03 X 1.5 m® 0.03
S S N As m’ 0.03
T VEEE - /L4y T 0.023 X 0.03 X 3.0 m®|  0.002
BAE T RC-40, t=16cm 060 X 1.5 m® 0.9
A RIEAs(13)
*E t=3cm 060 X 1.5 m® 0.9
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3TX({RE%R) fHBI PP@50-PPp25 &E#-F75

X N\ s m | s
4 B e W I R O S K BB i
[&44]
15 Kk
ARV F L ¢ 50 23.0 + 4.0 27.0 m
15E
$25 35.0 35.0 m
17 fak
o 13 05 X 3 1.5 m
PV ok ¢ 50 1 1 &
PPV rob $ 50X 25 1 1 FIE5)
fak
PP /LR 613 3 3 1
ek
PV /LR 613 3 3 i
PPF—2 650 1 L
fak
PPEZETF—X $25X ¢ 13 2 2 &
PPE H (PP=AY Yok AN vk &)
PRIV Gk $50X ¢ 13 1 1 &
(PPRL2MHE L)
B h LT 50 1 L
RN ¢ 50 23.0 23.0 m
¢ 25 35.0 35.0 m
[77%]
RY=F LR T $ 50 27.0 27.0 m
$25 35.0 35.0 m
fak
o 13 1.5 1.5 m
LR Aok F— Sy kAeE Bht
PPkEF T $ 50 3+ 3 + 2 8 m
LR Aok F—x kA Bht
$25 1+ 4 5 =
LR IS F—= Sk kRt
$13 12 + 2 o+ 1 15 m
PP H ik
FRA S KR EEAR T $50X ¢ 13 1 1 [0
RYTF L EET ¢ 50 27.0 27.0 m
$25 35.0 35.0 m
$13 1.5 1.5 m
RYTF LA G T ¢ 50 27.0/6 - 1 4 =]
$25 35.0/6 - 1 5 m
¢ 50 ¢ 25 ¢ 13
BT 27.0 X 0.595 + 35.0 X 0.423 + 1.5 X 0.184 BT i+ 31.1 kg
Y4y F—= =k
AT ¢ 50 3 X 2910 + 3 X 4770 + 1 X 1.730 24.8 kg
Yk F—=
$25 1 X 0.750 + 4 X 1.180 5.5 kg
%N F—
o13 12 X 0.340 + 2 X 0.550 5.2 kg
Fskrroy7  aE | 355 kg
SRR T 457K 650X ¢ 13
1 X 1.70 $RAITYT 7 1.7 kg
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3K () 4B+ THCEEH R

T+ T ¥ & &
+TAA7° | ER2-5 THEHE As PP ¢ 50 DP=0.30m
S3
+ TR = 3.8 = 3.8 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
!
i A
| [=]
i ©
i
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= =| ° WHIES ERM o~ DP_| 8 | 0.300
I RC-40 < H | #iE] 0.360
i Hl | #EAl&]  0.320
| h2 | M| 0.170
i h | &
|
! _
=
( 3.8 m HhHE)
4 R G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 38 m 7.6
EREERBUELRGA T As, t=10ecmPL T 0.60 X 3.8 m2 2.3
BRI T Mg WE 1 0.60 X 0.320 X 3.8 m 0.7
IR T RC-40 0.60 X 0.170 — 0.060 2 X 7,4 )X 3.8 m? 0.4
TR
FEA TR R W+ 0.70 m® 0.70
T AT 7 )L ML 0.60 X 0.04 X 3.8 m® 0.09
MR AR e As m’ 0.09
TG VEEE - /L4y T 0.023 X 004 X 7.6 m®|  0.007
AR T RC-40, t=16cm 0.60 X 3.8 m> 2.3
A RIFEAs(13)
*/g t=3cm 0.60 X 3.8 m? 2.3
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3K () 4B+ THCEEH R

T+ T ¥ & &
+TA47° | AEIH2-5 TIEEE As PP ¢ 50 DP=0.30m
+ TR = 3.8 = 3.8 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 E
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
| £ e HWEEE BEH « DP | +#Y | 0.300
g RC-40 < H | #iE] 0.360
i H2 | A& ] 0.330
| h2 | M| 0.170
! h W @&
|
i
=
( 3.8 m HhHE)
4 PR G2 N B =Y B =
EEERR B As, t=15cmPA T
EREERBUELRGA T As, t=10ecmPL T 0.60 X 3.8 m2 2.3
BRI T Mg WE 1 ( 0,60 X 0.330 — 0.060 2 X 5,/4)X 38 m? 0.7
IR T RC-40 0.60 X 0.170 X 3.8 m® 0.4
TR
FA TR WE+ 0.70 m® 0.7
T AT 7 )L ML 0.60 X 0.03 X 3.8 m® 0.07
MR AR e As m’ 0.07
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 3.8 m> 2.3
A RIFEAs(13)
*g t=3cm 0.60 X 3.8 m® 2.3
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AT RX(AK

%) BN

PP@50-PP 25 &E#f-FH75

4 B e R RO H A B
[&44]
15
RY=FL A% $ 50 15.6 15.6 m
15E
$25 50.8 50.8 m
17 #ark Bk ek ok
o 13 15 X 2 + 05 X 1 + 20 X 1 + 60 X 1 11.5 m
fak
PVYrob 613 5 5 e
PPV rob $ 50X ¢ 25 1 1 P[5
¢ 25X ¢ 20 1 1 {iE
ek
PPHEZEF—X $25X ¢ 13 3 3 P[5
DIP% (PPa=AVYhryb AN yR Y Erite)
FRIVGy KA 100X ¢ 50 | 1 1 1
PP (PPa=AYYhrybe AN yR G ite)
PRV KkAR $50X ¢ 13 2 2 P[5
TIVHEAME T
VIR — LS $ 50 1 1 2E]
(HERLSS LA « AT L 2 7 &)
MEY'a{ /b ¢ 50 2 2 1
s
e JWWA B 132 1 1 1
YT
PR25 (K) 2 2 1i#
R
RA25 (A) 1 1 PIES
TR
RC25(C) 1 1 2E
JEERR
RS25(S) 1 1 i
TR AL 650 625 013
ERT— 150mm 156 + 50.8 + 11.5 77.9 m
Sk ferk s
~—h—H 1 + 5 + 2 8 1#
[77%]
Ry T LR T ¢ 50 15.6 15.6 m
¢ 25 50.8 50.8 m
fa7k
613 11.5 11.5 m
TR Vo F—x 457kt
PPikFT. ¢ 50 1 + 1 2 ]
EYPiN ks F—X Ly
625 2+ 6 8 u
TR ok F—= 457kt
¢ 20 1 1 m
EPiN JArh F— Sk
$13 0 + 3 + 2 15 m
DIP%&
PRy kR AR T ¢ 100X ¢ 50 1 1 & AT
PPiEH ok
$»50X ¢ 13 2 2 & AT
ERATE T
L) FRE%E T ¢ 50 H=900 1 1 &7
AH=HNVART MFYaA b
AV =F LT T ¢ 50 2 2 m
7.5k MEZaAk
% = ¢ 65mmLL T 2 2 u]
B —RL 77.9 m
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AT X ORBOHHB) + TR R

T+ T ¥ & &
+TAa47° 1-1 THEHE As PP ¢ 50 DP=1.20m
+ TR = 2.0 = 2.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ e HARIEE BREM — pP_ | +#0 [ 1.200
g RC-40 < H1 #1360
i H2 | A& ]  1.330
1B hl [$E5EH| 0.710
iz—F v h | # & 0.460
! ou
i S
~N B| —
l | =
—
o
i Sy 4
!
¢D
( 2.0 m H7hHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 2.0 m 4.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.0 m2 1.2
BRI T Mg WE 1 0.60 X 1.330 X 2.0 m 1.6
IR T RC-40 0.60 X 0.710 X 2.0 m® 0.9
AR T oar i ( 060 X 0.460 — 0.060 2 X x,/4)X 2.0 m? 0.5
i)
38 EmR wWE+ 1.60 m® 1.6
T AT 7 )L N ALER 0.60 X 0.03 X 2.0 m® 0.04
S S N As m’ 0.04
T VEEE - /L4y T 0.023 X 0.03 X 4.0 m®|  0.003
BAE T RC-40, t=16cm 0.60 X 2.0 m® 1.2
A RIEAs(13)
*g t=3cm 0.60 X 2.0 m® 1.2
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AT X ORBOHHB) + TR R

T+ T ¥ & &
+TAa47° 1-5 TEHE As PP ¢ 50 DP=0.90m
+ TIEE = 13.6 = 13.6 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= g2 ° WHIES ERM - pp_| 4| 0.900
| RC-40 < H1 [ #m#izE]  1.060
i H2 | A& ]  1.030
1B hl [$E5H| 0.410
iz—k v h | # & 0.460
[ ok
i 34
i 6’}\ A
i al <
—
! 8
! A4 v
¢D
( 13.6 m Y7hisE)
4 R G2 N i B =V B =
SHAERR G As, t=15mBL T 2.00 X 13.6 m 27.9
sERE pERE - ROA T As, t=10cmBLF 0.60 X 13.6 m? 8.9
BRI T M W 1 0.60 X 1.030 X 13.6 m 8.4
BHIRE T RC-40 0.60 X 0.410 X 13.6 m 3.3
AR T oar i ( 0.60 X 0.460 — 0.060 2 X x,/4)X 13.6 m? 3.7
i)
38 EmR wWE+ 8.40 m® 8.4
T AT 7 )L NLALE 0.60 X 0.03 X 13.6 m® 0.2
s SN As m’ 0.2
15 VR - Ly T 0.023 X 0.03 X 27.2 m® 0.02
BAE T RC-40, t=16cm 0.60 X 13.6 m® 8.2
A RIEAs(13)
)= t=3cm 0.60 X 13.6 m® 8.2
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AT X ORBOHHB) + TR R

T+ T & &
+TAa47° 1-9 THEHE As PP ¢ 25 DP=0.65m
+ TR L= 50.8 = 50.8 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 | #mige[ 0.784
i H2 | #HIE] 0.754
1B hl [$E5#| 0.160
iz—F v h | # & 0434
[ ok
i S
~N B| —
l | =
—
o
i Sy 4
!
¢D
( 50.8 m Y7-hEE)
4 PR G2 N 7 " =Y B =
SREERR ) W As, t=15cmLL T 2.00 X 50.8 m 101.6
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 50.8 m? 30.5
B mE T etk W+ 0.60 X 0.754 X 50.8 m® 23.0
IR T RC-40 0.60 X 0.160 X 50.8 m® 4.9
A s B T oooan D ( 0.60 X 0.434 — 0.034 2 X g5,/4 )X 50.8 m® 13.2
R
FEA TR W+ 23.00 m® 23.0
T AT 7 )L N ALER 0.60 X 0.03 X 50.8 m® 0.91
S S N As m® 0.91
T VEEE - /L4y T 0.023 X 0.03 X 101.6 m®| 0.070
BT RC-40, t=16cm 0.60 X 50.8 m® 30.5
A RIEAs(13)
)= t=3cm 0.60 X 50.8 m® 30.5
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4T X (ORER) i)+ THREEE
T T %
+TAa47° 1-11 THEHE As PP 13 DP=0.65m
SIX2 +S2 +3S3 +54
+ TR L= 3.0 +05 +20 +6.0 = 11.5 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
3 L , ¢ 8l|
T
: Eﬁﬁ OA
| RC-40 S
i
i A
| W_[maliE]_0.600
o I D1 | &4ME| 0.022
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#mEigE] 0.772
i H2 | #HI&]|  0.742
:%HE-T- hl [$E5#| 0.160
iz—F v h | & 0.422
f ok
i S
~N B —A
| E -
—t
i Sy 4
!
¢D
( 115 m %7vi&E)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 115 m 23.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 11.5 m2 6.9
BRI T Mg WE 1 0.60 X 0.742 X 11.5 m 5.1
IR T RC-40 0.60 X 0.160 X 11.5 m® 1.1
A s B T 7ioay ( 0.60 X 0422 — 0.022 2 X x,/4)X 11.5 m® 2.9
i)
38 EmR wWE+ 5.10 m® 5.1
T AT 7 )L N ALER 0.60 X 0.03 X 115 m® 0.21
S S N As m’ 0.21
15 e E - ALy 0.023 X 0.03 X 23.0 m®| 0.016
AR T RC-40, t=16cm 0.60 X 11.5 m® 6.9
A RIEAs(13)
)= t=3cm 0.60 X 11.5 m® 6.9
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ATX(RER) #HBI PPp25 BEM-FHiE

N ‘ R
4 B e W I R O S K BB i
[&44]
15
RY=FL A% $25 50.5 50.5 m
17E ek Bk
o 13 05 X 1 + 30 X 2 6.5 m
PPV ok $25 1 1 e
fak
PVY/4roh o13 2 2 e
fak
PP LR 613 1 1 ]
fak
PV LR 613 1 1 i
PPELEY rvb 25X ¢ 20 1 1 L5
fak
PPHEZEF—X 625X ¢ 13 3 3 P[5
fiads
A E A 625 1 1 1
PRIRTE ¢ 25 120 + 160 + 125 40.5 m
[75%]
AT LR T ¢ 25 50.5 50.5 m
fak
o13 6.5 6.5 m
R Ze F—x Syikie Fyo 7
PPifkF 1. ¢ 25 3+ 6 + 1 10 m
LR Ik F—= Sy 7RAR Fyy7
$20 1 1 m
TR Vo F—=x Sk ¥y
613 4 + 4 + 3 11 m
RYVF L E ST 625 50.5 + 32.0 82.5 m
L% a7k
¢ 13 65 + 3.0 X 2 12.5 m
RY=F L Z G T ¢ 25 82.5/6 - 1 13 8]
$25 613
BT 82.5 X 0.595 + 12.5 X 0.184 BT il 51.4 kg
ok F—= WER AR T — A
AT T ¢ 25 3 X 0750 + 6 X 1.180 + 2 X 1.180 11.7 kg
ok
$20 1 X 0.500 0.5 kg
TR Gl F—X BERAE K
o13 4 X 0340 + 4 X 0350 + 3 X 0.550 + 2 X 0.350 5.1 kg
FpRArTyS Lt 17.3 kg
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AT X (o) #iiBh + TR R

T+ T ¥ & &
T A7 | ER2-7 THEHE As PP ¢ 25 DP=0.30m
+ TR = 7.0 +3.0 = 10.0 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| pemET
| RC-40 S
! A
i 'Y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #misge[ 0.334
i Hl | #EAIE] 0.294
| h2 | MR 0.144
i h | &
|
i
=
( 10.0 m Y7zoEE)
4 R G2 N B =Y B =
SHAERR G As, t=15emPA F 2.00 X 10.0 m 20.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 10.0 m2 6.0
BRI T Mg WE 1 0.60 X 0.294 X 10.0 m 1.8
IR T RC-40 ( 0.60 X 0.144 — 0.034 2 X gx,/4)X 10.0 m? 0.9
TR
FEA TR R W+ 1.80 m® 1.80
T AT 7 )L NLALER 0.60 X 0.04 X 10.0 m® 0.24
MR AR e As m’ 0.24
TG VEEE - /L4y T 0.023 X 0.04 X 20.0 m®| 0.018
AR T RC-40, t=16cm 0.60 X 10.0 m’ 6.0
A RIFEAs(13)
)= t=3cm 0.60 X 10.0 m? 6.0
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AT X (o) #iiBh + TR R

T+ T ¥ & &
+TH47° | B IH2-T TIEEE As PP ¢ 25 DP=0.30m
+ TR L= 70 +3.0 +20 = 12.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
i Eﬁﬁl A
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= £ e HARIEE BREM ~ pP_ | +#9 [ 0.300
g RC-40 < H | #misge[ 0.334
i H2 | #EAIE] 0.304
| h2 | MR 0.144
i h w5
|
! _
=
( 12.0 m YH7z0EE)
4 PR G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
EREERBUELRGA T As, t=10ecmPL T 0.60 X 12.0 m2 7.9
BRI T Mg WE 1 ( 0,60 X 0304 — 0.034 2 X g5,/4)X 12.0 m? 2.2
IR T RC-40 0.60 X 0.144 X 12.0 m® 1.0
TR
FA TR WE+ 2.20 m® 2.2
T AT 7 )L ML 0.60 X 0.03 X 12.0 m® 0.22
MR AR e As m’ 0.22
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 12.0 m> 7.9
A RIFEAs(13)
*/g t=3cm 0.60 X 12.0 m? 7.2
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AT X (o) #iiBh + TR R

T+ T ¥ & &
+TAA7° | ER2-9 THEHE As PP ¢ 13 DP=0.30m
S9X2
+ TR = 6.0 = 6.0 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
!
i A
| [=]
i ©
i
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= =| ° WHIES ERM o~ DP_| 8 | 0.300
I RC-40 < H | #igE] 0.322
i Hl | #EAI&] 0.282
| h2 | MR 0.132
i h | &
|
! _
=
( 6.0 m M7hHE)
4 R G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 6.0 m 12.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 6.0 m2 3.6
BRI T Mg WE 1 0.60 X 0.282 X 6.0 m 1.0
IR T RC-40 0.60 X 0.132 — 0.022 2 X g7,/4)X 6.0 m? 0.5
TR
FEA TR R W+ 1.00 m® 1.00
T AT 7 )L ML 0.60 X 0.04 X 6.0 m® 0.14
MR AR e As m’ 0.14
TG VEEE - /L4y T 0.023 X 0.04 X 12.0 m®| 0.011
AR T RC-40, t=16cm 0.60 X 6.0 m> 3.6
A RIFEAs(13)
*/g t=3cm 0.60 X 6.0 m? 3.6
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AT X (o) #iiBh + TR R

T+ T ¥ & &
+TA47° | AE1IH2-9 TIEEE As PP ¢ 13 DP=0.30m
SOX2 +S7TX2
+ TR = 6.0 +6.0 = 12.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
T
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
| £ e HWEEE BEH « DP | +#Y | 0.300
g RC-40 < H | #igE] 0.322
i H2 | #AIE] 0.292
| h2 | MR 0.132
i h | &
|
i
=
( 12.0 m YH7z0EE)
4 PR G2 N " =Y B =
EEERR B As, t=15cmPA T
EREERBUELRGA T As, t=10ecmPL T 0.60 X 12.0 m2 7.9
BRI T Mg WE 1 ( 0.60 X 0.292 — 0.022 2 X g5,/4)X 12.0 m? 2.1
IR T RC-40 0.60 X 0.132 X 12.0 m® 1.0
TR
FA TR WE+ 2.10 m® 2.1
T AT 7 )L ML 0.60 X 0.03 X 12.0 m® 0.22
MR AR e As m’ 0.22
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 12.0 m> 7.9
A RIFEAs(13)
)= t=3cm 0.60 X 12.0 m? 7.2
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AT X (o) #iiBh + TR R

T+ T ¥ & &
+TA47° | AEIR2-2 TIEEE As PP ¢ 25 DP=1.20m
+ TR = 2.0 = 2.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET
| RC-40 S
|
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
| £ e HWEEE BEH « DP | +#Y | 1.200
I RC-40 < H | Hmisge] 1.234
i H2 | #EAlE]  1.204
| h2 | HEM| 1.044
! h W @&
|
i
=
( 2.0 m H7hHE)
4 PR G2 N B =Y B =
EEERR B As, t=15cmPA T
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.0 m2 1.2
BRI T Mg WE 1 (060 X 1.204 — 0.034 2 X x,/4)X 2.0 m? 1.4
IR T RC-40 0.60 X 1.044 X 2.0 m® 1.3
TR
FA TR WE+ 1.40 m® 1.4
T AT 7 )L ML 0.60 X 0.03 X 2.0 m® 0.04
MR AR e As m’ 0.04
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 2.0 m> 1.2
A RIFEAs(13)
*g t=3cm 0.60 X 2.0 m® 1.2
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5TX(AZR) fHBI PP@50-PPp25 &E#-F75

4 B e R RO H A B
[&41]
1Fd
R)F LA ¢ 50 34.2 34.2 m
1Ff
$25 3.5 3.5 m
16 fak
$20 25 X 7 17.5 m
16 fak
o13 27 X 1 2.7 m
PVY 4ok ¢ 50 1 1 e
$ 25 1 1 &
ek
$ 20 7 7 1
fak
613 1 1 &
PP o $ 50X ¢ 25 1 1 &
PP H (PP Yok AN R £ Ee)
PRSI 650X $20 | 7 7 &
(PPa=AYYlryb AN yR Erite)
650X ¢ 13 1 1 F[E5)
MC=74> ¢ 25 1 1 1
8z 1% 650 625 013
EHRT— 150mm 342 + 35 + 27 40.4 m
~—h—H 11 ]
[97%])
RYZF L ERAT T ¢ 50 34.2 34.2 m
625 3.5 3.5 m
fa7k
$20 17.5 17.5 m
613 2.7 2.7 m
TR ok F—=x 457kt
PPifF T ¢ 50 3 3 m]
LR JArh F—= Ly ke
$25 3 3 u]
EPiN ik F—x Sk
$20 14 + 7 21 [m
TR Vo F—=x D
613 2 + 1 3 u
PPiE H ok
PR KR EGARL T $ 50X ¢ 20 7 7 T
PPE fak
$50X ¢ 13 1 1 [EER
B —RL 40.4 m

38



3 2 Lve 9T 601 3 602 wog=1 (C1)SVaI Ik Z T E3F
ERGE
3 A Lrve 9T 60T 1% G°0% WT=1 ‘0F-0 TEA
01°0 ¢ [10T°0 700°0 72070 010°0 €90°0 ER AT T,
€T 62T 500 2€0 0170 280 SV | & f Y =uaEeae®
€T 62T G0°0 ce0 01°0 280 WAV LLL L
0¥ ;o 88e ¢ 8L L'C 1°27 T 5
o L 88e Al 8L LT 1°L2 TR | a3
02 AN A L0 57 60 €6 G AREARY L oA i S
0% 18T €0 LT ST 97T 07-0Y TS,
o 88 z1 8L LT 1°L% FEM W3 T 1 e S
53 A LUve 9T Go1 1C 507 L YAWOT=1 TSV [Ty
021 W [8GTT VG 0°Ge 0L 789 A YwGT=3 sy G AR
T1-1 01-1 o1 -1
[T WRee aranararrrarir I B
Ly g T T
HAHEER T (A (E) XS

39



5P (ORER) By + THCEEH R

T+ T & &
+TAa47° 1-1 THEHE As PP ¢ 50 DP=1.20m
+ TR L= 34.2 = 34.2 m
< L »|
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
i pRfiET
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ e HARIEE BREM — pP_ | +#0 [ 1.200
g RC-40 < H1 #1360
i H2 | A& ]  1.320
1B hl [$E5EH| 0.710
iz—k h | # & 0.460
! oﬂ
i S
~N B| —
i al <
—
o
i =2
!
¢D
( 34.2 m Y70EE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 34.2 m 68.4
SREERRTUELRGA T As, t=10emPL T 0.60 X 34.2 m?® 20.5
B mE T etk W+ 0.60 X 1.320 X 34.2 m® 27.1
A BT RC-40 0.60 X 0.710 X 34.2 m® 14.6
A A P T Jwa R ( 060 X 0.460 — 0.060 2 X 7,/4)X 34.2 m? 9.3
R
FEA TR W+ 27.10 m® 27.1
T AT 7 )L N ALER 0.60 X 0.04 X 34.2 m® 0.82
S S N As m’ 0.82
T VEEE - /L4y T 0.023 X 0.04 X 68.4 m®| 0.063
PEAZ T RC-40, t=16cm 0.60 X 34.2 m? 20.5
A RIEAs(13)
*Eg t=3cm 0.60 X 34.2 m? 20.5
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SLIX (CKE) @il TR EHEE
T+ T ¥ & &
+TAa47° 1-2 TEHE As PP ¢ 25 DP=1.20m
+ TR = 3.5 = 3.5 m
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= g2 ° WHIES ERM - pp_| 4| 1.200
| RC-40 < H1 | #1334
i H2 | #AlE] 1.294
1B hl [$E5EH| 0.710
iz—k v h | # & 0434
! ou
i S
~N B| —
l | =
—
! 8
! v v
¢D
( 3.5 m Y-uEE)
4 R G2 N i B =V B =
SHAERR G As, t=15em A F 2.00 X 35 m 7.0
S RE RN AL As, t=10emPA T 0.60 X 3.5 m? 2.1
BRI T M W 1 0.60 X 1.294 X 3.5 m 2.7
IR T RC-40 0.60 X 0.710 X 3.5 m® 1.5
A A P T oooan D ( 060 X 0434 — 0.034 2 X x,/4)X 3.5 m® 0.9
i)
38 EmR wE+ 2.70 m® 2.7
T AT 7 )L N ALER 0.60 X 0.04 X 3.5 m® 0.1
s SN As m’ 0.1
T VEEE - /L4y T 0.023 X 0.04 X 7.0 m® 0.01
BT RC-40, t=16cm 0.60 X 3.5 m? 2.1
A RIEAs(13)
*Eg t=3cm 0.60 X 3.5 m? 2.1
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5P (ORER) By + THCEEH R

T+ T ¥ & &
+TAa47° 1-10 THEHE As PP ¢ 20 DP=0.65m
SIX7
+ TR = 17.5 = 175 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= g2 ° WHIES ERM - pp_| 4| 0.650
| RC-40 < H1 [#miEgE] 0.777
i H2 | #AIE ] 0.747
1B hl [$E5#| 0.160
iz—k v h | # & 0427
! ou
i S
~N B| —
l | =
—
! 8
! v v
¢D
( 175 m Y7hisE)
4 R G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 175 m 35.0
R EBHRN - BOA T As, t=10cmPA T 0.60 X 17.5 m?® 10.5
BRI T Mg WE 1 0.60 X 0.747 X 17.5 m 7.8
IR T RC-40 0.60 X 0.160 X 17.5 m® 1.7
A s B T oooan D ( 0.60 X 0.427 — 0.027 2 X gx,/4)X 175 m® 4.5
i)
38 EmR wWE+ 7.80 m® 7.8
T AT 7 )L N ALER 0.60 X 0.03 X 17.5 m® 0.32
S S N As m’ 0.32
15 VR - Ly T 0.023 X 0.03 X 35.0 m®| 0.024
BT RC-40, t=16cm 0.60 X 17.5 m? 10.5
A RIEAs(13)
)= t=3cm 0.60 X 17.5 m? 10.5
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5P (ORER) By + THCEEH R

T+ T ¥ & &
+TAa47° 1-11 THEHE As PP 13 DP=0.65m
S2X 1
+ TR = 2.7 = 2.7 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
3 L , ¢ 8l|
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= g2 ° WHIES ERM - pp_| 4| 0.650
I RC-40 < H1 [#mEigE] 0.772
i H2 | A& ] 0.742
1B hl [$E5#| 0.160
iz—k v h | # & 0422
! ou
i S
~N B| —
l | =
—
! 8
! v v
¢D
( 2.7 m M70HE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 27 m 5.4
sERE pERE - ROA T As, t=10cmBLF 0.60 X 2.7 m? 1.6
BRI T Mg WE 1 0.60 X 0.742 X 2.7 m 1.2
IR T RC-40 0.60 X 0.160 X 2.7 m® 0.3
AR T oar i (060 X 0.422 — 0.022 2 X g,/4)X 2.7 m? 0.7
i)
38 EmR wWE+ 1.20 m® 1.2
T AT 7 )L N ALER 0.60 X 0.03 X 2.7 m® 0.05
S S N As m’ 0.05
T VEEE - /L4y T 0.023 X 0.03 X 5.4 m®|  0.004
BAE T RC-40, t=16cm 0.60 X 2.7 m® 1.6
A RIEAs(13)
*g t=3cm 0.60 X 2.7 m® 1.6
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STX({RE%) f#HB1 PP@50-PPp25 E#f-FiEHEDH)

W X K O E

£ bSikis ¥ B s
[7#]
ARV F L EET ¢ 50 36.0 36.0 m
$ 25 6.6 6.6 m
Hark Hark ek
$ 20 1.0 X 4 + 09 X 2 + 20 X 1 7.8 m
Hark
$13 3.1 X 1 3.1 m
RYTF L E G T ¢ 50 36.0/6 - 1 5 m|
¢ 25 6.6/6 - 1 1 m
¢ 50 ¢ 25 ¢ 20 ¢ 13
BT 36.0 X 0595 + 6.6 X 0.423 + 7.8 X 0.269 + 3.1 X 0.184 it 26.9 kg
TR Z—h
WA F T ¢ 20 13 X 0490 + 1 X 0.400 6.8 kg
ok
613 1 X 0.350 0.4 kg
FskArTvT ARk 7.2 kg
SRATZ T 437k 50X ¢20 57K $50% ¢ 13
7 X 200 + 1 X 170 #AITYT it 15.7 kg
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5T IX (i) 4B+ THCEEH R

T+ T & &
+TH47° | B IH2-1 TIEEE As PP ¢ 50 DP=1.20m
+ TR = 1.8 = 1.8 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
| £ e HWEEE BEH « DP | +#Y | 1.200
g RC-40 < H | #igE] 1.260
i H2 | #AlE]  1.230
| h2  [3EEH| 1.070
i h | &
|
i
=
( 1.8 m Y47-0¥E)
4 PR G2 N " =Y B =
SPEEREEELEGA T As, t=10emPA T 0.60 X 1.8 m?® 1.1
BRI T Kbk mVE -+ ( 060 X 1.230 — 0.060 2 X x,/4)x 1.8 m? 1.3
BRI T RC-40 0.60 X 1.070 X 1.8 m® 1.2
S
FA TR wWE+ 1.30 m® 1.3
T AT 7 )L N ALEE 0.60 X 0.03 X 1.8 m® 0.03
MR AR e As m’ 0.03
BT RC-40, t=16cm 060 X 1.8 m? 1.1
FAR T FE As(13)
*g t=3cm 0.60 X 1.8 m? 1.1
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5T IX (i) 4B+ THCEEH R

T+ T & &
+TH47° | B IH2-2 TIEEE As PP ¢ 25 DP=1.20m
+ TR L= 1.0 = 1.0 m
< W P
BEs%As t=3cm 1mEl | BR R0 BAERERAs t=3cm
8 N , V/ S
]
| BT 1
| RC-40 E
!
i y
| W_[maliE]_0.600
a i D1 [#&4M%| 0.034
| £ e HWEEE BEH « DP | 0| 1.200
g RC-40 < H | Hmisge] 1.234
i H2 | #EAlE]  1.204
| h2  [3EEH] 1.044
i h | W
|
! _
=
( 1.0 m Y47=0¥EE)
4 PR G2 N 7 " =Y B =
SRS BUELRSATL]  As, t=10cnBL T 0.60 X 1.0 m? 0.6
BRI T Kbk mVE -+ ( 060 X 1.204 — 0.034 2 X xn,/4)x 1.0 m? 0.7
BRI T RC-40 0.60 X 1.044 X 1.0 m® 0.6
S
FA TR wWE+ 0.70 m® 0.7
T AT 7 )L N ALEE 0.60 X 0.03 X 1.0 m? 0.02
MR AR e As m® 0.02
PEAR T RC-40, t=16cm 0.60 X 1.0 m? 0.6
FAR T FE As(13)
#E t=3cm 0.60 X 1.0 m? 0.6
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1TR(ARR) BiE PP@30 BEM-FHE

4 B e W I R O S K B
[&44]
15
RYFL A ¢ 30 76.5 76.5 m
1f&E FL—
$25 1.5 1.5 m
17 fak
$20 2.5 2.5 m
17 fak ok
o13 0.5 1+ 20 X 2 4.5 m
PVY 4ok ¢ 30 1 1 e
¢ 20 1 1 &
ek ferk
613 1 2 3 1
RL—r
PP /LR $25 3 3 e
RL—r
PPRETF —X $30X ¢25 1 1 1
¢ 30X ¢20 1 1 1
ek
$30X ¢ 13 3 3 F[E5)
(PPHRLMEGTe I v RL)
Wk E)7 $25 1 1 &l
TR L $30 $25 $20 613
BEHRT— 150mm 76.5 1.5 + 25 + 45 85.0 m
Yok ferk
~——p 1 5 6 &
[55%])
AV E=F LU ERRMA T ¢ 30 76.5 76.5 m
FL—r
$25 1.5 1.5 m
fa7k
$20 2.5 2.5 m
613 4.5 4.5 m
EPiN Jroh F—= Ly
PPk T $ 30 2+ 10 12 r
TR ok F—x pSyelv
$25 6 + 1 + 2 9 m
EPiN ik F—x Sk
$20 2+ 1 3 m
LR JArok F—x Gy7KEE
o 13 6 + 3 9 m)
BHRY—RL 85.0 m
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s | mies A oA W ooy
LV 5T F
FHHEERIE W GE) XTI

49



1T X ORER) Bl + TR E
T T %
+TAa47° 1-6 TEHE As PP ¢ 30 DP=0.90m
+ TR L= 76.5 = 76.5 m
< W P
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
| BT °
| RC-40 S
i
i
| W_[maliE]_0.600
a I D1 |&4ME| 0.042
= g2 ° WHIES ERM - pp_| 4| 0.900
; RC-40 < H1 [#miizE]  1.042
i H2 | #EHI&] 1.012
A Wi [Pkt 0.410
=k h | # & 0.442
f ok
i S
~N B| —
l s| =
—
o
i =y
!
¢D
( 76.5 m Y70EE)
4 R G2 N i B =V B =
kL A ) As, t=15cmPLF 2.00 X 76.5 m 153.0
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 76.5 m? 45.9
B mE T bk mYE 1 0.60 X 1.012 X 76.5 m® 46.5
IR T RC-40 0.60 X 0.410 X 76.5 m® 18.8
A R B T Joar ( 0.60 X 0442 — 0.042 2 X x,/4)X 765 m? 20.2
i)
FEA TR W+ 46.50 m® 46.5
T AT 7 )L N ALER 0.60 X 0.03 X 76.5 m® 1.38
i S YN As m’ 1.38
15 IRE R - L5y 0.023 X 0.03 X 153.0 m® 0.11
AT RC-40, t=16cm 0.60 X 76.5 m? 45.9
A RIEAs(13)
#E t=3cm 0.60 X 76.5 m? 45.9
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1 TR (R B+ THREEE
T T %
+TAa47° 1-10 THEHE As PP ¢ 20 DP=0.65m
SIX T
+ TR = 2.5 = 2.5 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
: Eﬁﬁ OA
| RC-40 S
i
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#miEgE] 0.777
i H2 | #EHI&|  0.747
:%HE-T- hl [$E5#| 0.160
iz—F v h | & 0427
f ok
| o
~N B —A
l | =
! v v
¢D
( 2.5 m M7hHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 25 m 5.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.5 m2 1.5
BRI T Mg WE 1 0.60 X 0.747 X 2.5 m 1.1
AR T RC-40 0.60 X 0.160 X 2.5 m® 0.2
AR T oar i (060 X 0427 — 0.027 2 X g,/4)X 25 m? 0.6
i)
38 EmR wWE+ 1.10 m® 1.1
T AT 7 )L N ALER 0.60 X 0.03 X 2.5 m® 0.05
S S N As m® 0.05
15 e E - ALy 0.023 X 0.03 X 5.0 m®|  0.003
BT RC-40, t=16cm 060 X 25 m® 1.5
A RIEAs(13)
*g t=3cm 060 X 25 m® 1.5
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1 TR (R B+ THREEE
T T %
+TAa47° 1-11 THEHE As PP 13 DP=0.65m
S2X1 +S3X2
+ TR = 0.5 +4.0 = 45 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
: Eﬁﬁ OA
| RC-40 S
i
i A
| W_[maliE]_0.600
o I D1 | &4ME| 0.022
= g2 ° WHIES ERM - pp_| 4| 0.650
I RC-40 < H1 [#mEigE] 0.772
i H2 | #HI&]|  0.742
:%HE-T- hl [$E5#| 0.160
iz—F v h | & 0.422
f ok
i S
~N B —A
l | =
—1
i Sy 4
!
¢D
( 45 m H70HE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 4.5 m 9.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 4.5 m2 2.7
BRI T Mg WE 1 0.60 X 0.742 X 4.5 m 2.0
AR T RC-40 0.60 X 0.160 X 4.5 m® 0.4
AR T oar i ( 060 X 0422 — 0.022 2 X g5,/4)X 45 m? 1.1
i)
38 EmR wWE+ 2.00 m® 2.0
T AT 7 )L N ALER 0.60 X 0.03 X 4.5 m® 0.08
S S N As m’ 0.08
15 e E - ALy 0.023 X 0.03 X 9.0 m®|  0.006
BT RC-40, t=16cm 0.60 X 4.5 m® 2.7
A RIEAs(13)
*g t=3cm 0.60 X 4.5 m® 2.7

52




1 TR(RER) B

PP$30 &E#f-FH7

4 B e W I R O S K B
[&44]
15
RYFL A ¢ 30 80.5 80.5 m
1f&E FL—
$25 2.0 2.0 m
17 fak
$20 1.0 1.0 m
17 Kk ok
o13 0.5 X 1 3.0 X 2 6.5 m
PV rob $ 30 1 1 e
fak
¢ 20 1 1 &
ek
613 2 2 1
PP /LR ¢ 30 4 4 &
fa7k
613 1 1 &
fa7k
PVIZ/LAR 613 1 1 1&
FL—r
PPEfEF —R $30X ¢ 25 1 1 1A
$ 30X ¢ 20 1 1 1
fak
$30X ¢13 3 3 1
(PPERL2MEE L)

Vi a4 ¢ 25 1 1 P[5
PRI ¢ 30 31.0 + 45.0 76.0 m
[5%]

AV =F LU ERRMA T ¢ 30 80.5 80.5 m
625 2.0 2.0 m
fa7K
620 1.0 1.0 m
ek
o 13 6.5 6.5 m
LR JArok F—R Gy KR Bht
PPHEF T $ 30 8 + 2 10 20 A
LR ok F—= Sk kRt
$25 1 + 2 3 ]
LR Aok F—x Gy7KEE Bht
$20 2 1 3 =
LR VAroh F—= Ly kg Bt
613 4+ 4 3 11 m
ARV F LU EET $ 30 80.5 80.5 m
$25 2.0 2.0 m
fa7k
$20 1.0 1.0 m
613 6.5 6.5 m
RY=F L a1 ¢ 30 80.5/6 - 1 13 ]
¢ 30 b 25 ¢ 20 ¢ 13
BEZT# 80.5 X 0.595 2.0 X 0423 + 1.0 X 0269 + 6.5 X 0.184 50.2 kg
TR Viroh F—x
AT Z T ¢ 30 8 X 1.470 2 X 1.250 + 10 X 2.070 35.0 kg
F—x =k
¢ 25 1 X 1.180 1 X 0.600 1.8 kg
Yok F—X
$20 2 X 0.500 1 X 0.780 1.8 kg
B Vi F—
613 4 X 0.340 4 X 0350 + 3 X 0.550 4.4 kg
HEAI T &t 43.0 kg
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BRI T Mg WE 1 0.60 X 0.902 X 2.0 m 1.1
A AR B T RC-40 ( 0.60 X 0.752 — 0.042 2 X g,/4)X 2.0 m? 0.9
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FEA TR R W+ 1.10 m® 1.10
T AT 7 )L ML 0.60 X 0.04 X 2.0 m® 0.05
i SN As m’ 0.05
TG VEEE - /L4y T 0.023 X 0.04 X 4.0 m®|  0.004
AR T RC-40, t=16cm 0.60 X 2.0 m> 1.2
A RIFEAs(13)
)= t=3cm 0.60 X 2.0 m® 1.2
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IR T RC-40 0.60 X 0.752 X 2.0 m® 0.9
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FA TR WE+ 1.10 m® 1.1
T AT 7 )L ML 0.60 X 0.03 X 2.0 m® 0.04
MR AR e As m’ 0.04
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AR T RC-40, t=16cm 0.60 X 2.0 m> 1.2
A RIFEAs(13)
*g t=3cm 0.60 X 2.0 m® 1.2

56




LT () B+ TH L

T+ T ¥ & &
+TAA7° | ER2-6 THEHE As PP ¢ 30 DP=0.30m
+ TR = 2.5 = 2.5 m
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
!
i A
| [=]
i ©
i
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.042
| = e HWEEE BEH « DP | +#Y | 0.300
I RC-40 < H | #iE] 0.342
i Hl | A& ] 0.302
| h2 | MR 0.152
i h | &
|
! _
=
( 2.5 m M7hHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 25 m 5.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.5 m2 1.5
BRI T Mg WE 1 0.60 X 0.302 X 2.5 m 0.5
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FEA TR R W+ 0.50 m® 0.50
T AT 7 )L ML 0.60 X 0.04 X 25 m® 0.06
MR AR e As m’ 0.06
TG VEEE - /L4y T 0.023 X 0.04 X 5.0 m®|  0.005
AR T RC-40, t=16cm 0.60 X 25 m> 15
A RIFEAs(13)
*/g t=3cm 0.60 X 2.5 m? 1.5
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A RIFEAs(13)
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EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.5 m2 1.5
BRI T M W 1 0.60 X 1.030 X 2.5 m 1.5
IR T RC-40 0.60 X 0.410 X 2.5 m® 0.6
A A P T oooan D ( 0.60 X 0.460 — 0.060 2 X 7,/4)X 25 m® 0.7
i)
38 EmR wWE+ 1.50 m® 1.5
T AT 7 )L N ALER 0.60 X 0.03 X 2.5 m® 0.05
S S N As m® 0.05
15 VESEH - L5y 0.023 X 0.03 X 5.0 m® 0.01
AR T RC-40, t=16cm 0.60 X 25 m® 1.5
A RIEAs(13)
*Eg t=3cm 0.60 X 2.5 m? 1.5
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A RIFEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8
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S S N As m® 0.03
15 e E - ALy 0.023 X 0.04 X 28 m®|  0.003
BT RC-40, t=16cm 060 X 1.4 m® 0.8
A RIEAs(13)
*g t=3cm 060 X 1.4 m® 0.8
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STIX (KRR B T EHEE
T T %
+TAa47° 1-4 THEHE As HPE ¢ 75 DP=0.90m
+ TR L= 795 = 79.5 m
< W P
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
| EREET o
| RC-40 S
i
i
| W_[maliE]_0.600
a I D1 | &4ME| 0.090
= £ e HARIEE BREM — pP_ | +#9 [ 0.900
g RC-40 < H1 [#m#izE]  1.090
i H2 | #HI&]  1.060
A Wi [Pkt 0.410
iv— h | # & 0.490
f ok
i S
~N B| —
l s| =
—
! 8
! v
¢D
( 79.5 m Y7WEE)
4 R G2 N 7 B =Y B =
kL A ) As, t=15cmBL T 2.00 X 79.5 m 159.0
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 79.5 m? 47.7
B mE T bk mYE L 0.60 X 1.060 X 79.5 m® 50.6
IR T RC-40 0.60 X 0.410 X 79.5 m® 19.6
A R B T oar ( 0.60 X 0.490 — 0.090 2 X x,/4)X 795 m? 22.9
i)
FEA TR W+ 50.60 m® 50.6
T AT 7 )L NLALE 0.60 X 0.03 X 79.5 m® 1.4
s SN As m’ 1.4
15 IRE R - L5y 0.023 X 0.03 X 159.0 m® 0.11
AT RC-40, t=16cm 0.60 X 79.5 m? 47.7
A RIEAs(13)
#E t=3cm 0.60 X 79.5 m? 47.7
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ST ORER) Bl + T EEEE
T T %
+TAa47° 1-11 THEHE As PP 13 DP=0.65m
SIX2 +S2X3 +S3X1
+ TR L= 1.6 +5.1 +15.0 = 21.7 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
: Eﬁﬁ OA
| RC-40 S
i
i A
| W_[maliE]_0.600
o I D1 | &4ME| 0.022
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#mEigE] 0.772
i H2 | #HI&]|  0.742
:%HE-T- hl [$E5#| 0.160
iz—F v h | & 0.422
f ok
i S
~N B —A
l | =
! v v
¢D
( 21.7 m 47-0EE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 21.7 m 43.4
SREERRTUELRGA T As, t=10emPL T 0.60 X 21.7 m?® 13.0
BRI T Mg WE 1 0.60 X 0.742 X 21.7 m 9.7
IR T RC-40 0.60 X 0.160 X 21.7 m® 2.1
A s B T 7ioay ( 0.60 X 0422 — 0.022 2 X x/4)x 21.7 m? 5.5
i)
38 EmR wWE+ 9.70 m® 9.7
T AT 7 )L N ALER 0.60 X 0.03 X 21.7 m® 0.39
S S N As m’ 0.39
15 e E - ALy 0.023 X 0.03 X 43.4 m®|  0.030
AT RC-40, t=16cm 0.60 X 21.7 m? 13.0
A RIEAs(13)
*Eg t=3cm 0.60 X 21.7 m? 13.0
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STX({RER) Ei¥h PP @50 &E#-H7%

4 B e R RO H A B
[&41]
17
RY=FL A% $ 50 88.0 88.0 m
17# Kk Bk
o 13 05 X 3 + 20 X 3 7.5 m
fak
PVY/4rvk o 13 3 3 e
PP/LAR ¢ 50 2 2 i
fak
¢ 13 3 3 &
fak
PV /LR 613 3 3 &
DIP% H (PP=AY Yy b AN %Y i)

PRSI AR 100X ¢ 50 | 1 1 1
PP% (PPa=AVYhryb AN yR Y Erite)

BRILAy KA G 50X ¢ 13 6 6 {IE

fiad
YA AKEF T ¢ 50 1 1 1
BRI A = NP a b FCDHL Reffiff
IR ¢ 75 2 2 1
(PPRL2MHE L)

B h LT 50 1 L
RN ¢ 50 54 + 1735 78.9 m
[97%])

RYTF LR T $ 50 88.0 88.0 m
ek
o 13 7.5 7.5 m
AR 7 F—= Sk Xy BAl
PPikF 1. $ 50 4 + 1+ 1+ 2 8 m
LR Yok F—x Ly IKkER Fyo/ Bhat
613 12 + 6 + 6 24 m
DIP%& H
PRASKBEEAL T ¢ 100X ¢ 50 1 1 [0
PPiE H ok
G 50X ¢ 13 6 6 & AT
i
AH = J VT T 675 2 2 m]
RV zF L E ST $50 88.0 88.0 m
fa7k
613 7.5 7.5 m
AT LA T ¢ 50 88.0/6 - 1 14 O
i
BEERE G T ¢ 75 2 9 0
¢ 50 613
BT 88.0 X 0.595 + 7.5 X 0.184 BT it 53.7 kg
BN A —h
AT T ¢ 50 4 X 3.170 + 1 X 1.730 14.4 kg
TR Vryh
o13 12 X 0.340 + 6 X 0.350 6.2 kg
Fexro07  fEt | 20.6 kg
SRR T T 437K 650X ¢ 13
6 X 1.70 #AITYT it 10.2 kg
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3K (fia) B+ TR MR

T+ T ¥ & &
T A7 | ER2-1 THEHE As PP ¢ 50 DP=1.20m
+ TR = 2.6 = 2.6 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| pemET
| RC-40 E
! A
i 'Y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= =| ° WHIES ERM o~ DP_| gy | 1.200
| RC-40 < H | #igE] 1.260
i Hl | #Al&]  1.220
| h2 | HER| 1.070
! h W @&
|
i
=
( 2.6 m M7hHE)
4 R G2 N B =Y B =
SHAERR G As, t=15emPA F 2.00 X 26 m 5.9
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.6 m2 1.6
BRI T Mg WE 1 0.60 X 1.220 X 2.6 m 1.9
A AR B T RC-40 ( 0.60 X 1.070 — 0.060 2 X g5,/ 4)X 2.6 m? 1.7
TR
FEA TR R W+ 1.90 m® 1.90
T AT 7 )L NLALER 0.60 X 0.04 X 2.6 m® 0.06
MR AR e As m’ 0.06
TG VEEE - /L4y T 0.023 X 0.04 X 5.2 m®|  0.005
BAE T RC-40, t=16cm 0.60 X 2.6 m® 1.6
A RIFEAs(13)
)= t=3cm 060 X 2.6 m® 1.6
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3K (fia) B+ TR MR

T+ T ¥ & &
+TA47° | IAEIR2-1 TIEEE As PP ¢ 50 DP=1.20m
+ TR = 2.6 = 2.6 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET
| RC-40 S
|
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
| £ e HWEEE BEH « DP | +#Y | 1.200
I RC-40 < H | #igE] 1.260
i H2 | #AlE]  1.230
| h2 | HER| 1.070
! h W @&
|
i
=
( 2.6 m M7hHE)
4 PR G2 N B =Y B =
EEERR B As, t=15cmPA T
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.6 m2 1.6
BRI T Mg WE 1 ( 060 X 1.230 — 0.060 2 X x,/4)X 26 m? 1.9
IR T RC-40 0.60 X 1.070 X 2.6 m® 1.7
TR
FA TR WE+ 1.90 m® 1.9
T AT 7 )L ML 0.60 X 0.03 X 2.6 m® 0.05
MR AR e As m’ 0.05
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 2.6 m> 1.6
A RIFEAs(13)
*g t=3cm 060 X 2.6 m® 1.6

79




3K (fia) B+ TR MR

T+ T ¥ & &
+TAA7° | ER2-5 THEHE As PP ¢ 50 DP=0.30m
+ TR = 6.5 = 6.5 m
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
!
i A
| [=]
i ©
i
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
| = e HWEEE BEH « DP | +#Y | 0.300
I RC-40 < H | #iE] 0.360
i Hl | #EAl&]  0.320
| h2 | M| 0.170
i h | &
|
! _
=
( 6.5 m M7hHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 6.5 m 13.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 6.5 m2 3.9
BRI T Mg WE 1 0.60 X 0.320 X 6.5 m 1.2
IR T RC-40 0.60 X 0.170 — 0.060 2 X 7,/4)X 6.5 m? 0.6
TR
FEA TR R W+ 1.20 m® 1.20
T AT 7 )L ML 0.60 X 0.04 X 6.5 m® 0.16
MR AR e As m’ 0.16
TG VEEE - /L4y T 0.023 X 0.04 X 13.0 m’| 0.012
AR T RC-40, t=16cm 0.60 X 6.5 m> 3.9
A RIFEAs(13)
*/g t=3cm 0.60 X 6.5 m? 3.9
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3K (fia) B+ TR MR

T+ T ¥ & &
+TA47° | AEIH2-5 TIEEE As PP ¢ 50 DP=0.30m
+ TR = 6.5 = 6.5 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
| £ e HWEEE BEH « DP | +#Y | 0.300
g RC-40 < H | #iE] 0.360
i H2 | A& ] 0.330
| h2 | M| 0.170
! h W @&
|
i
=
( 6.5 m M7hHE)
4 PR G2 N B =Y B =
EEERR B As, t=15cmPA T
EREERBUELRGA T As, t=10ecmPL T 0.60 X 6.5 m2 3.9
BRI T Mg WE 1 ( 0,60 X 0.330 — 0.060 2 X 5,/4)X 6.5 m? 1.3
IR T RC-40 0.60 X 0.170 X 6.5 m® 0.7
TR
FA TR WE+ 1.30 m® 1.3
T AT 7 )L ML 0.60 X 0.03 X 6.5 m® 0.12
MR AR e As m’ 0.12
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 6.5 m> 3.9
A RIFEAs(13)
*g t=3cm 0.60 X 6.5 m® 3.9
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3K (fia) B+ TR MR

T+ T ¥ & &
+TAA7° | ER2-9 THEHE As PP ¢ 13 DP=0.30m
S2X3
+ TR = 6.0 = 6.0 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
!
i A
| [=]
i ©
i
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= =| ° WHIES ERM o~ DP_| 8 | 0.300
I RC-40 < H | #igE] 0.322
i Hl | #EAI&] 0.282
| h2 | MR 0.132
i h | &
|
! _
=
( 6.0 m M7hHE)
4 R G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2.00 X 6.0 m 12.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 6.0 m2 3.6
BRI T Mg WE 1 0.60 X 0.282 X 6.0 m 1.0
IR T RC-40 0.60 X 0.132 — 0.022 2 X g7,/4)X 6.0 m? 0.5
TR
FEA TR R W+ 1.00 m® 1.00
T AT 7 )L ML 0.60 X 0.04 X 6.0 m® 0.14
MR AR e As m’ 0.14
TG VEEE - /L4y T 0.023 X 0.04 X 12.0 m®| 0.011
AR T RC-40, t=16cm 0.60 X 6.0 m> 3.6
A RIFEAs(13)
*/g t=3cm 0.60 X 6.0 m? 3.6
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3K (fia) B+ TR MR

T+ T ¥ & &
+TA47° | AE1IH2-9 TIEEE As PP ¢ 13 DP=0.30m
S2X 3
+ TR L= 6.0 = 6.0 m
< L »|
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
!
i Eﬁﬁl A
| RC-40 S
i
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
| £ e HWEEE BEH « DP | +#Y | 0.300
g RC-40 < H | #igE] 0.322
i H2 | #AIE] 0.292
| h2 | MR 0.132
i h | &
|
! _
=
( 6.0 m Y7-0EKE)
4 PR G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
EREERBUELRGA T As, t=10ecmPL T 0.60 X 6.0 m2 3.6
BRI T Mg WE 1 ( 0,60 X 0.292 — 0.022 2 X 7,/4)X 6.0 m? 1.0
IR T RC-40 0.60 X 0.132 X 6.0 m® 0.5
TR
FA TR WE+ 1.00 m® 1.0
T AT 7 )L ML 0.60 X 0.03 X 6.0 m® 0.11
MR AR e As m’ 0.11
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 6.0 m> 3.6
A RIFEAs(13)
*/g t=3cm 0.60 X 6.0 m? 3.6

83




ATX(ARR) Bl PP@20 &E# 5%

N ‘ I
4 B e W I R O S K BB i
[&44]
15
ARV F L ¢ 20 23.0 + 05 X 1 23.5 m
17E ek Bk
o 13 05 X 1 + 15 X 1 2.0 m
PVY/4rvk o 13 2 2 e
PP /LR $20 1 1 e
fak
PPV rob $20X ¢ 13 1 1 P[5
fak
PPREZEF—X $20X ¢ 13 1 1 P[5
TR HEL 620 613
BHRT—7 150mm 23.5 + 2.0 25.5 m
fak
~—H—H 2 2 fF
[55%]
AT LR T ¢ 20 23.5 23.5 m
fa7k
$13 2.0 2.0 m
TR ok F—X
PP#kTT. ¢ 20 2 + 1 + 2 5 =]
TR Vb F—x
613 5 o+ 1 6 m
B —RL 25.5 m
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4T X ORER) Bl +THEHEE
T T %
+TAa47° 1-10 TEHE As PP ¢ 20 DP=0.65m
+ TR = 23.0 = 23.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
| BT o
| RC-40 S
i
i
| W_[maliE]_0.600
o I D1 | &4ME| 0.027
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#miEgE] 0.777
i H2 | #EHI&|  0.747
:%HE-T- hl [$E5#| 0.160
iv— h | # & 0427
f ok
| o
~N B —A
l | =
! v
¢D
( 23.0 m Y7hEE)
4 R G2 N i B =V B =
SHAERR G As, t=15mBL T 2.00 X 23.0 m 46.0
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 23.0 m? 13.8
B mE T et W+ 0.60 X 0.747 X 23.0 m® 10.3
IR T RC-40 0.60 X 0.160 X 23.0 m® 2.2
A s B T oooan D ( 0.60 X 0.427 — 0.027 2 X g5,/4 )X 23.0 m® 5.9
i)
FEA TR W+ 10.30 m® 10.3
T AT 7 )L N ALER 0.60 X 0.03 X 23.0 m® 0.41
B EEDZNE As m® 0.41
15 e E - ALy 0.023 X 0.03 X 46.0 m®| 0.032
AR T RC-40, t=16cm 0.60 X 23.0 m® 13.8
A RIEAs(13)
)= t=3cm 0.60 X 23.0 m® 13.8
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4T X (ORER) Hgh + THREEE
T T %
+TAa47° 1-11 THEHE As PP 13 DP=0.65m
S5EXT1 +S6X 1
+ TR = 0.5 +1.5 = 2.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S )N , / S
T
: Eﬁﬁ OA
| RC-40 S
i
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#mEigE] 0.772
i H2 | #HI&]|  0.742
:%HE-T- hl [$E5#| 0.160
iz—F v h | & 0.422
f =X
i S
~N B —A
l | =
! A v
¢D
( 2.0 m H7hHE)
4 PR G2 N " =Y B =
SHAERR G As, t=15emPA F 2.00 X 2.0 m 4.0
sERE pERE - ROA T As, t=10cmBLF 0.60 X 2.0 m? 1.2
BRI T Mg WE 1 0.60 X 0.742 X 2.0 m 0.9
AR T RC-40 0.60 X 0.160 X 2.0 m® 0.2
AR T oar i (060 X 0422 — 0.022 2 X 7,/4)X 2.0 m? 0.5
i)
38 EmR wWE+ 0.90 m® 0.9
T AT 7 )L N ALER 0.60 X 0.03 X 2.0 m® 0.04
B EEDZNE As m® 0.04
15 e E - ALy 0.023 X 0.03 X 4.0 m®|  0.003
BT RC-40, t=16cm 0.60 X 2.0 m® 1.2
A RIEAs(13)
*g t=3cm 0.60 X 2.0 m® 1.2
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ATX(RER) B¥h PP@20 &E# -5

N Ny I
4 B e W I R O S K BB i
[&44]
15
ARV F L ¢ 20 23.0 + 05 1 23.5 m
17E Kk Bk
o 13 0.5 X 1 1.5 X 1 2.0 m
PVY/4rvk o 13 2 2 e
PP /LR $20 1 1 e
fak
613 1 1 &
fak
PV LR 613 1 1 i
ek
PPELEY rvb $20X ¢ 13 1 1 L5
fak
PPHEZEF—X $20X ¢ 13 1 1 P[5
PRI ¢ 20 14.0 14.0 m
[77%]
RY=F L E S T $20 23.5 23.5 m
fa7k
613 2.0 2.0 m
TR Vi F—R
PPk T ¢ 20 2 + 01 2 5 m
TR ok F—R
613 4 + 5 1 10 m
Rz L L H ST 620 23.5 23.5 m
fa7k
613 2.0 2.0 m
RY=F L Z W T ¢ 20 23.5/6 - 1 3 =]
¢ 20 613
BT 235 X 0.269 2.0 X 0.184 BT B 6.7 kg
LR Yok F—=
AT ¢ 20 2 X 0.490 1 X 0500 + 2 X 0.780 3.0 kg
LR ok F—R
o 13 4 X 0.340 5 X 0350 + 1 X 0.550 3.7 kg
e A 6.7 kg
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AT X (i) B+ THCRRH R

T+ T ¥ & &
+TAA7° | Ek2-8 THEHE As PP ¢ 20 DP=0.30m
+ TR = 8.0 = 8.0 m
< L »|
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
| pemET
| RC-40 S
! A
i 'Y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.327
i Hl | #Al&] 0.287
| h2  [3EEH| 0.137
i h | &
|
i
=
( 8.0 m Y/-vikE)
4 PR G2 N B =Y B =
SHAERR G As, t=15emPA F 2.00 X 8.0 m 16.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 8.0 m2 4.8
BRI T Mg WE 1 0.60 X 0.287 X 8.0 m 1.4
A T T RC-40 ( 0.60 X 0.137 — 0.027 2 X gx,/4)X 8.0 m® 0.7
R
e LT W+ 1.40 m® 1.40
T AT 7 )L NALER 0.60 X 0.04 X 8.0 m® 0.19
ey YN As m® 0.19
15 VR - L5 T 0.023 X 0.04 X 16.0 m®| 0.015
BRAE T RC-40, t=16cm 0.60 X 8.0 m? 4.8
AR EEAS(13) {
*= t=3cm 0.60 X 8.0 m? 4.8
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AT X (i) B+ THCRRH R

T+ T ¥ & &
+TA47° | iE1H2-8 TIEEE As PP ¢ 20 DP=0.30m
+ TR = 8.0 = 8.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
|
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
| £ e HWEEE BEH « DP | +#Y | 0.300
g RC-40 < H | #igE] 0.327
i H2 | #AIE] 0.297
| h2 | MR 0.137
! h W @&
|
i
=
( 8.0 m M/hHE)
4 PR G2 N B =Y B =
EEERR B As, t=15cmPA T
EREERBUELRGA T As, t=10ecmPL T 0.60 X 8.0 m2 4.8
BRI T Mg WE 1 ( 0.60 X 0.297 — 0.027 2 X x,/4)X 8.0 m? 1.4
IR T RC-40 0.60 X 0.137 X 8.0 m® 0.7
TR
FA TR WE+ 1.40 m® 1.4
T AT 7 )L ML 0.60 X 0.03 X 8.0 m® 0.14
MR AR e As m’ 0.14
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 8.0 m> 4.8
A RIFEAs(13)
*g t=3cm 0.60 X 8.0 m® 4.8
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AT X (i) B+ THCRRH R

T+ T ¥ & &
+TAA7° | ER2-9 THEHE As PP ¢ 13 DP=0.30m
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MR AR e As m’ 0.03
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 1.5 m> 0.9
A RIFEAs(13)
*/g t=3cm 0.60 X 1.5 m? 0.9
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